2.5 17. Simplify. Express the answer in a + bi form.
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3.3 19. Simplify each expression.
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3.2 21. A radioactive isotope decays at a rate of 3% per day. A scientist has an initial amount
of 50 g. Write a model for this situation. Determine approximately how many days it will
take for half the isotope to decay.
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3.5 22. Solve algebraically:

(a) logsx +logs(x+8)=2

(b) log, (x+5) log, x=7
lag [xtergy] =2 (Db =0 X+5) 118 = x+5
57_‘-'— X(%“’g) fx-\»ﬂ,o ¥~1=D y / 13 T% =5
9= x> e =) i s
(j:)(z'm"?){"c]

1
Ua{— n Ao

(c) 32 -6=42 d) —27=- [-1—)
¥ . 4
5= 18 o
X ﬁ' ( 3
JOﬂB)L = ,@3‘%8 (J_)iax GL q
A = foaq H& #3.5% byt
5 d0q 3 = L0g X= 70‘” 9 = iy  Log ()
204148 ”5 A
% Jog3 = d403 T T T
L & 3
¢l L 2 3
nd 2 z ‘—5-
Ch. 4, Ch. 5,9.2, 9.4, 6.1and 6.3 (2" Semester) ~ No Calculator ¢l Gi &
2
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26. State the amplitude, period, phase shift, and vertical shift, and then graph each function. Clearly label
all tick marks on the axes.
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27. Write an equanon of the cosine function with amplitude = 2, period = —, phase shift= ——
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and vertical shift=—3.
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(a) Write a sine function that fits the graph.

(yg! _5.?— |d QSm %(X*'E)]”Lq e

(b) Write a cosine function that fits the graph. -gn 5" : ‘};"
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30. Write an algebraic expression equivalent to each expression below. Hint: Draw a A

(a) tan(sin” 2x) (b) Sec(tan*1 x) (c) cot(csc” 3x)
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36. Find the exact value of cos 105°.
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Ch5  42. Solve for all values of x.
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4.1 43. The wheel (mc%'udmg the tlre) of a sports car under development by an auto company has an eleven
inch radius. How many rpm’s does the wheel make at 55 mph?
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4.1 44. Find the measure of the intercepted arc in terms of 7 in a circle with diameter 60 inches and
central angle of 72°. 5 =B
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4.6 45. The angle of depression from the top of a building to a point 55 feet away from the building (on
level ground) is 39°. Determine the height of the building.
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4.6 46. A shoreline runs north-south, and a boat is due east of the shoreline. The bearings of the boat
5.6~  fromtwo points on the shore are 110° and 100°. Assume the two points are 550 feet apart. How

‘ far is the boat from the shore?
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Solve each triangle. If there are two A’s, solve both! SSh
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49.

50.

51.

The sequence {2, 6, 18, 54, ...} is geometric. Find
r®3
(a) arecursive rule for the nth term. 0\\ =L
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(b) an explicit formula for the nth term.
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Suppose an arithmetic sequence contains a, = 49 and a, =174.8. Find ...
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The fourth and ninth terms of a geometric sequence are 128 and 131072 respectively. Find
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